Fr?_{; A v N

13.8. Draw the Bode plot for the function

16
H{jo) = ——7——F
Ue) = Gartaz + D
13.9, Diaw the Bode plot for the network function
2

BU& = G 17

13.10. Sketch the magnitude characteristic of the Bode plot for
the transfer function

338(jw + 2}
je(jo + 5 — j12)(jw + 5 + j12)

G(jw) =

13.11. Sketch the magnitude characteristic of the Bode plot for
the transfer function

10jw
(jo + D(jw + 1002

G(jw) =

13.12. Sketch the magnitude characteristic of the Bode plot for
the transfer function

5000(jw + 1)
— ¥ jor + 10)(jo + 30)

G(jw) =

13.13. Sketch the magnitude characteristic of the Bode plot for
the transfer function

16(jw + 20)
jo{ — @ 4 Sjw + 32)

G(jo) =

13.14, Sketch the magnitude characteristic of the Bode plot for
the transfer function

800jw
(jo + D(—&® + 4jo + 40)

G(jw) =

13,15, Sketch the magnitude characteristic of the Bode plot for
the transfer function '

1000je( —@* + 4jo + 16)
(jo + 0.1){jw + 400%(jw + 100)

Gjw) =

13.16. Draw the Bode plot for the network function

T2jew + 2)
jol(jw? + 24 jo + 144]

H{jw) =

13.17. The magnitude characteristic for a network function s
shown in Fig P13.17 Determine the network function H(jw)
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+40 dB
} 20 dB/decade +20 dB/decade
|

| l |
x [ |
1 10 100

o (rad/s)
Figure P13.17

13.18. Determine H(jw) if the amplitude characteristic for H{ jw)
is shown in Fig P13.18

+20 dB/decade
—40 dB : : —-40 dB/decade
f

[ [
01 03 10

Figure P13.18

w (rad/s)

13.19. Find H(je) if its megnitude characteristic is shown in Fig.
P13 .19 '

—20 dB/decade

0dB frm——— — |
—40 dB/decade

L
l 1
| I
| 1
10 20
Figure P13.19

w (rad/fs)

13.20. Determine H(jw) if its magnitude characteristic is shown
in Fig. P13 20

—40 dB/decade
—-20 dB/decade
0dB ————— 5 ]
|| | —40 dB/decade
I I
[ 1 |
|1 |
1 |
510 50 @ (radfs)

Figure P13.20

13.21. Ihe magnitude characteristic of a band-elimination filter
is shown in Fig P13.21. Determine H{jw).
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0dB —20 dB/decade o
+720 dB/decade
L

|

l ! | i

] 1 1 {

10 100 1000 10000 ¢ (rad/s)

Figure P13.21

13.22. Find H( jw) for the magnitude characteristic shown in Fig.
Pi3 22

dB

—20 dB/dec

+40 dBfdec

B e e — — ——
O — — - ——— —

05 w (rad/s)

Figure P13.22

13.23, Given the magnitude characteristic for G{jes) in Fig P13 23,
determine the transfer function G(jew)

aB4 Qfﬂcc
W= —20 dB/dec
\40 dB/dec
! )
i :
i

N iD 30 ¢ (Tadfs)

o ——— ——

Figure P13.23

13.24. Given the magnitude characteristic for G(jw) in Fig P13.24,
determine the transfer function G(jw}

dB

¢ (rad/s)
0 dB/dec

Figure P13.24

13,25, Given the magnitade characteristic for G{jw) in Fig. P13 235
determine the transfer function G(jw)

dB ~20 dB/dec

40 —==
|
|
I --40 dB/dec
!
I
1
]I } _20 dBjdec
| |

0 L L T —
2 3 jio e (zadfs)
1

—40 dB/dec

Figure P13.25

13.26. Determine what type of filter the network shown in Fig
P13 26 represents by determining the voltage transfer function

Figure P13.26

13 27. Given the lattice network shown in Fig. P13 27, determine
what type of filter this network represents by determining the

voltage transfer function

1

a

[+]

Ry
Figure P13.27

13.28. Given the network in Fig. 13 .28, skerch the magnitude
characteristic of the transfer function Gy{(j®), labeling all critical
values and identifying the type of filter




